P

ERE R AR AR

WEE AR AR
i i RS LR, BREHRK, RIKEEEAEEE.
e et
. M K K
HESiH HadiA ]
—\ ——
—_—l—T"1———"— 11T =11 }» w
ey = - -
/ / [a)
[a]
/ / s C
C
B s B S E
A-E A
TSRS 5
[ Ie= - OR®RY - OEREHRE - OEHLER
BAAD - 1007 - 1 - F
on| ©R g o EERY BA | | BA
3 & R | TRUE | BR | TIERE
5 E| OELRAER | . el s = a
e gﬂ % i (?%") M A | B |c|D|E|F|H| K B2 8B =8 €
- 7 (mys) (U712 Nm | Nm Kg
1007 | 1 4 7 |M10x1.0| 706 | 55 | 43 | 3 |86 |86 |127| 3 | 6 |12400| 50
1210 | 1 4 10 |M12x1.0| 855 | 64 | 52 | 3 |95 |10.3| 14 | 4 | 10 |19000| 70
1 4 80
1410M 10 |Mi4x15| 84 | 66 |578| 4 | 8 | 11 | 19 | 6 | 20 |22000
3 1 150
1 4 80
1410 10 |M14x15| 105 | 84 |72 | 4 | 11 | 12 | 19 | 6 | 20 |25000
3 1 150
1 4 80
1412 12 |M14xi5| 102 | 79 |67 | 4 | 11 | 12 | 19 | 6 | 22 |25000
3 1 190
1 4 80
1415 15 |M14x15| 110 | 84 |72 | 4 | 11 |12 | 19 | 6 | 23 |28000
3 1 190
1 4 90
1612 12 M16x1.5| 102 79 67 4 1 12 19 6 22 | 28000
3 p 200
T - 4 100
1620 (REREERES 20 |Mi6x15| 129 | 98 | 86 | 4 | 11 | 12 | 19 | 6 | 25 [30000
BAAD 3 L) 1 220 |-45~+80
7] N(EESHK) T, 200
2016M 16 |M20x1.5|127.8| 96 | 80 | 4 |158|178| 26 | 8 | 28 |31000
3 1 290
1 4 220
2016 16 |M20x1.5|148.8| 117 |[101 | 6 |158|17.8| 26 | 8 | 28 |35000
3 1 320
1 4 300
2020 20 |M20x1.5|139.3 | 1035 |87.5| 6 |15.8|17.8| 26 | 8 | 40 |42000
3 1 390
1 4 350
2025 25 M20x1.5| 157.8 117 101 6 15.8 | 17.8 | 26 8 45 | 45000
3 1 455
1 4 400
2525 25 |M25x1.5| 163 | 118.5 103 | 6 |19.5| 22 | 32 | 10 | 85 |54000
3 1 620
1 4 400
2530 30 |M25x1.5| 168 | 118.5 | 103 | 8 |19.5| 22 | 32 | 10 | 95 |60000
3 1 720
2725 | 1 4 25 |M27x1.5(155.5| 111 |91.8| 8 [19.5| 22 | 32 | 10 | 85 |70000| 500

www.ant-fa.com ELERMRESBRIFBL SN 2598



